
1.05

1.10φ∆
 d

N
/d

× t
1/

N
 < 0.6 GeV/ct

T
a) 0.2 < p

| < 1.8η∆0.8 < |

+Au@200GeVp0-10% 
0.64

0.66

0.68

0.70  < 0.6 GeV/ct

T
b) 0.2 < p

| < 1.8η∆1.0 < |

0.36

0.37

0.38

0.39
 < 0.6 GeV/ct

T
c) 0.2 < p

| < 1.8η∆1.2 < |

0.150

0.155

0.160

0.165  < 0.6 GeV/ct

T
d) 0.2 < p

| < 1.8η∆1.4 < |

1.00

1.05

1.10

φ∆
 d

N
/d

× t
1/

N

 < 1.1 GeV/ct

T
e) 0.6 < p

| < 1.8η∆0.8 < |

0.64

0.66

0.68

0.70

0.72  < 1.1 GeV/ct

T
f) 0.6 < p

| < 1.8η∆1.0 < |

0.36

0.38

0.40  < 1.1 GeV/ct

T
g) 0.6 < p

| < 1.8η∆1.2 < |

0.150

0.155

0.160

0.165

0.170
 < 1.1 GeV/ct

T
h) 0.6 < p

| < 1.8η∆1.4 < |

1.00

1.05

1.10

1.15φ∆
 d

N
/d

× t
1/

N

 < 2.0 GeV/ct

T
i) 1.1 < p

| < 1.8η∆0.8 < |

0.65

0.70

 < 2.0 GeV/ct

T
j) 1.1 < p

| < 1.8η∆1.0 < |

0.36

0.38

0.40
 < 2.0 GeV/ct

T
k) 1.1 < p

| < 1.8η∆1.2 < |

0.15

0.16

0.17
 < 2.0 GeV/ct

T
l) 1.1 < p

| < 1.8η∆1.4 < |

1− 0 1 2 3 4
(rad)φ∆

1.04

1.06

1.08

φ∆
 d

N
/d

× 
tr

ig
1/

N

1c

 < 2.0 GeV/ct

T
m) 0.2 < p

| < 1.8η∆0.8 < |

1− 0 1 2 3 4
(rad)φ∆

0.65

0.66

0.67

0.68

0.69

2c

 < 2.0 GeV/ct

T
n) 0.2 < p

| < 1.8η∆1.0 < |

1− 0 1 2 3 4
(rad)φ∆

0.36

0.37

0.38

3c

 < 2.0 GeV/ct

T
o) 0.2 < p

| < 1.8η∆1.2 < |

1− 0 1 2 3 4
(rad)φ∆

0.155

0.160

0.165

4c

 < 2.0 GeV/ct

T
p) 0.2 < p

| < 1.8η∆1.4 < |
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